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___I’'m surfing from a toothache. _

A. Are you feeling better B. What’s trouble with you

C. Is there wrong with you | D. What’s the matter with you
2. As _____ who is a success in business, Mr. White has his own way to deal with various

pmblemsi. '

A. one B. any C. all D. few
3. Football is swrtllnve, __sport that has given me so much,

A. a;the B. J'a C. the;a D. the; the
4. This book is said to be a special one, which many events not found in other history |
RO _ .
A. writes B. covers C. d_ﬂﬂls ) D . ers i'"
S matters to do the job well---what you are or where ;9_, ou come from? '|
___Neither. It depends on whether you put yourd \eart in -'j 0 ity )
 n - A. Which is it that - B. What it is tha -
. C. Which it is that e D. What is it which 1
6.  What do you think made Celia so h: '

_____ aprize in the recent competition.

A. Asshewun B. Won - C. Wi
7. Iwonder whyyuuwan*tdmmﬁ___ - It’s the third time you hav
| A. youtold B. betold 5 G fﬁlﬂfyuu
8. wmmthigtmﬂﬂﬂinﬂ ‘ ' |
— wgbmwhmmdal
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33 . 1told him my name, “The pleasure_;;y " He said, “I was Chief Enginmmreumﬁ i
last year, I built the new town, Karl Packer is the name. Haven't we met before 35 7
16. A. by bike B. on foot C. by air D. by bus
17. A. address B. pame C. boss D. wife
18. A. nearly B. almost C. hardly D. mostly
19. A. disappointed B. moved C. excited D. encouraged |
20. A. iIn B. with C. for D. on
21. A. givenin B. given up C. given with D. given out
22. A. bus B. land C. air D. sea |
23. A. 1t B. which C. that D. this
24. A. made B. built C. set D. founded
25. A. book B. mirror C. picture D. window
26. A. good B. bad C. wrong D. old ‘
27. A. cleaned B. washed C. lined D. broken |
28. A. on B. above C. in D. over
29. A. something B. anything C. nothing D. everything
30. A. do B. talk C. make D. give | |
31. A. open-mouth B. open-mouth C. open-mouthed D. opening-mouth
32. A. landed at B. landed by C. landed to D. landed
33. A. happily B. pleasure C. pleased D. pleasant
34. A. my B. mine C. me D. I
35. A. everywhere B. anywhere C. nowhere mm H|
L [ 353, &ﬁﬂﬁ%ﬂﬁﬂ%ﬁlﬁ( A. B, C ;I D) :E 3 AR T
| MEL1 5y, WS 20 4) ‘;4 a R T
. When people advise your children tc lfg&t an education” , they tell you only half the
truth. What they really mean is tﬁ get just enough education to give manpower for your
society, Get a high school diploma, at leaﬂ! Without that, you are occupationally (ERME )

dead,l.ml&ssyeurnmnehappenstoberBemﬂrdShawﬂr'I‘}mmasAhaEdimnmdm
can successfully stop study in primary school '

Get a college degree. if possible. With a BA (%F {1, mwmqul
job . Youmwmmﬂmhrakmm, If audo gofm'nmwmm leg) make sure it is an
MBA and only from a first-class university. O s, the famous law of diminishing (U848
W) begins to work. -
Doymhmw;hemh,m stan Mdm
- - Yes, each 528,000 in 199
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managed to get $27, 930.

A PhD is the highest degree YOu can get, but except in. few specialized field such as |
physics or chemistry, where the degree can quickly by turned to industrial or cﬁmmefcih_l'a'im,;
you are

facing a not very bright future. There are more PhDs unemployed in this country than in any
other part of the world by far.

If you became a PhD in English or'history or political science or languages or--worst of all
-in philosophy, you take the risk of becoming over-educated for our national demands.
Thousands of PhDs are selling shoes, driving taxis, vomiting on tables and filling out

applications month and then may be takmg a job in high school or co[lege with the pay much
less than a door-keeper makes.

36. According to the writer, the society expects education to turn out people who will
A. raise their payment
B. become specialized in some way
C. have a bright future
D. meet the demands as a source of manpower
37. if you don't want to be occupationally dead, you
A. should look for a job in a primary school
B. must at least get a high school diploma
C. have to change your name for Bernard Shaw or Edison
D. should go on learning and become a doctor or physics or chemistry
38. The underlined phrase “put on the brakes" means =
A. stop learning for a high degree | |
B. take up a master's degree atmn%e &
C. go on studying in a first-class universit
D. find any mtemnng an
- 39. Which of the following is not TRU
A. Neither Bernard Shaw or EdlSGI‘I ﬁ&hed high school.
B. There are more PhDs than the saeﬁ demands.
C. The higher education level is, the more money you will earmn
D. If you are overeducated. you can not easily get a good job.
5 |
live in a big pond. Pluto's recent depa
t size really matters. =
e the first scientific definition of the word "p
turned out to be only & "dwarf planet"(H

4

IT is always hard for a small ﬂﬂm

the classical planet family clearly proy

Astronomers voted on August 2¢
dﬂm anﬂwﬁdl': mmtlu
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rp;m at a conference of the Intmuﬁnu Astronomical Union (1AL). Am w0 ﬂw
definition, a planet must have a clear neighboyrhood around its orbit(41il). Pluto has m
been considered a planet since its discovery in 1930. Unfortunately, it has a special orbit which
overlaps with Neptune's. It is all because, compared with Neptune, Pluto is very small. It is
attracted by Neptune's gravity when the two planets get closer.

According to [AU. a "dwarf planet” should have an orbit around the Sun. It will not have a
clear neighborhood around its orbit, and must not be a satellite, The new classification means

|
that the science textbooks will have to be updated. The solar system is now made up of the eight

nclassical planets,” together with a number of dwarf planets. The classical planets are: Mercury;
Venus, Earth, Mars. Jupiter, Saturn, Uranus and Neptune. The debate over Plates status started
in 1992. After an advanced telescope was sent into space, astronomers started to find a belt of
objects, which lies beyond Neptune. The belt contains nearly 1,000 objects, including Pluto. As
they continued the exploration, scientists recently discovered at least 41 dwarf planets at the
edges of the solar system. There are at least two objects of a similar size to Pluto

It seems that even if the IAU had kept Pluto's status as a planet, the classical theory ui'
nine planets in the solar system would have had 1o be changed, but the other way around. More
dwarf planets of a similar size to Pluto would join the family of planets. Scientists will probably
find many more dwarf planets. '

40. According to the passage, Pluto is
A. nplmatwhmhﬂmuwndghbmhmdmmﬁztsmbn
B. a satellite of Neptune which was discovered in 1930

C. is the smallest planet in the solar System
D. aplanet which has an orbit around the sun

41. The sentence “IT is always hard

beginning of the passage is used to__
A. tal] msmall ﬁsh can hardly survive inme big pond

C mean that small planet can hardly exist in the solar system

D. explain the disappearance of Pluto in the solar system
42. From the last paragraph we can infer that if IAU kept PIND's status as a planet, the nu

of planets in the solar system would-be__
A. eight B. nine

r G less mm

nine )
43. Which of the following statem en -ﬁ*' ::_-_..-_‘
According to definition ofa 'g: anet”, i

classic planet family.

B. I;'squitemssiblaim
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C. Pluto has a special orbit which waﬂgps with Neptune's because it is 5o m] as to be
attracted by Neptune's gravity when the two. planets get closer

D. A "dwarf planet”, which must not be a gatellite without a clear neighborhood around its
orbit, should have an orbit around the Sun.
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A “blogger” is a person who Writes on an Internet computer web site called a “blog”. The
word “blog™ is a short way of saying web log CH ) , or personal web site. Anyone can start a
blog, and they can write about anything they like.

There are millions of blogs on the Internet today. They provide news, information and
ideas to many people who read them. They contain links to other web sites. And they-prmrideﬁ
place for people to write their ideas and react to the ideas of others.

A research company called Perseus has studied more than 3,000 web logs. It says that
blogs are most popular with teenage girls. They use them to let their friends know what is
happening in their life. The study also says that more than 100,000 bloggers stopped taking part
in the activity after a year.

However, some people develop serious blogs to present political and other ideas. For
example, the Republican and Democratic parties in the southern state of Kentucky recently ‘
started their own blogs. And American companies are beginning to use blogs to advertise their
products. :

At the same time, some long-standing blogs have ended. Last week, blogging leader Dave
Winer closed his free blog smrca, ‘weblogs. com. He says the site became too costly to
continue. He started the blog four years ago, and mnusands of panple had wnttmm it. |

useful information for readers. RebeccaB re
history of blogs on the site. That article led to k called “T!

beenn'anslﬂedmtafﬂnrlangnagassafar | _*"“'
Ms Blood says Rebecea’s Pocket gets'@bout 30,000 visitors a month. She writes about

anything and evcrythmg—-—-pnhtms culture and movies. She recently provided medical i
advice. And she wrote about how to preventﬁeo;:le from stealing money from online bank |
accounts. |
44. The text is written mainly to
| A. introduce an Internet computer web sil
B. introduce a way of reading on blogs.
C. tell readers about blogs. )
. tell readers how to write blogs
45. me the text we can learn that Iﬂm
A. different ideas B. medical advice
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£51. Please tell me which of the statements is true a6eos

| 7,143,789, but it soon gain

—

codes ‘
46. Acmrdi.n'E to this passage, which of the following is NOT true?
A. Politicians don't use blogs at aJ

C. Those ﬂho like to use blogs are mostly teenage girls

D. Dave Winer closed his “weblogs. cqﬁ;“ because of money shortage
47. The reason why Rebecca’s Pocket is sti]] going strong is that

A. it was created by a woman |

B. it provides plenty of useful information and advice

C. it1s about the history of books

D. it has editions in at least four different languages
48. We can see that the Erie Canal

A. joined the Great Lakes together

B. crossed New York from north to south

C. played an important part in developing New York

D. was the first waterway built in the US

49. It can be inferred that into the Atlantic Ocean.
A. the Great Lakes flow B. the Hudson River flows 1
C. Lakes Erie flows y D. the Erie Canal flows

50. Which of the following is true according to the passage?
A. The Erie Canal brought profits of over $114,000,000
B. Itis 363 miles from the Great Lakes to the Atlantic Ocean
C. The West was more advanced than the East when the canal was built
D. Please tell me which of the stat true accordin ;:.--‘-.i.:: he passage.

L

B. Clinton started buildings the cana 'fﬁf;_he became governor
C. All parts of the canal were completed at the same time
D. Construction of the canal took eight:ygrs.
4
The Erie Canal (3&77) was the first important national waterway built in the US. It |
crossed New York from Buffalo on Lake Erie to Albany on the Hudson River. It joined the |
Great Lakes with the Atlantic Ocean. The canal served as a route over which industrial goods |
could flow into the west, and materials could pour into the west, and materials could pour into |
the east. The Erie Canal helped New York develop into the nation’s largest city. "
The building of the canal was paid for entirely by the state of New York. It cost |

A. Clinton broke ground for the canal at boffi ends
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$121,461,891.

For a hundred years before the Erie was built. people had been talking about a canal which
could join the Great Lakes and the Atlantic Qgean. The man who plannﬁﬂ the Erie Canal and |
carried the plan through was Dr Witt Clinton. Those who were against the canal laugh'hglyl
called it “Clinton’s Ditch (74 ) *. Clinton talked and wrote about the canal and drew up plans for
it. He and Governor Moris went to Washington in 1812 to ask for help for the canal., but they
were unsuccessful.

Clinton became governor of New York in 1817, and shortly afterwards , on July 4, 1817,
broke ground for the canal in Rome, N, Y. The first part of the canal was completed in 1820. As
the canal grew, tqwns along its course developed fast. The length of the canal is 363 miles,
52. We can see that the Erie Canal

opened, and 882, when toll charges (3f jz 1 % ) were stopped, the mr‘ leced

e

A. jomned the Great Lakes together |
B. crossed New York from north to south
C. played an important part in developing New York City
D. was the first waterway built in the US
53. It can be inferred that into the Atlantic Ocean. T
A. the Great Lakes flow B. The Hudson River flows
C. Lake Erie flows | D. the Erie Canal flows |
'54. Which of the following is true according to the passage?
A. The Erie Canal brought profits of over 114,000,000 ,

B. Itis 363 miles from the Great Lakes to the Atlantic Ocean.

C. The West was more advanced than the East when the canal was built.

D. Please tell me which of the stait:menm-}s true
55. Please tell me which of the statememe according to the passace

A. Clinton broke ground for the canal at both-ends. ' |
B. Clinton started building the canal®€fore he became governor.

C. All parts of the canal \ﬁere'-'campleted- at the same time.
D. Construction of the canal took eight years.

IV. % FFIECEMRIUE. (%420 4) g
| Nowadays, environment protection has become the common issue. It's concerned by many
countries' governments and people of all walks of life. Sea levels rose and forests were

| destroyed at unprecedented rates dmmg.‘ last decade. A series .of-._ ' men | ) f‘_
| such as the deterioration of the ecosys ' extinction nf bft?-s cies s e 0ZOne
layer, the “green-house cffect”, acid rain and desertification, have posed a s
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human living condition and heﬂﬁmm ;nble-m- -his_*gecﬁma one of iggest
threats to human beings. Environmental erisis teads to one of the serious problems, namely,
water shortage. Presently, more than 40 percent of the world’s population — two billion people —
now face water shortage. And it is Predicted that with the global population expected to increase
from six billion to eight billion over the next 25 years, further environmental stress is expected.
[t has a long way for the human kind to 80 to solve the predicament posed by environment
protection and development.

V. 1E3C. G2 25 4%)

E—IRE’ “Should the Undergraduates(4-%}%£) Be Allowed to Marry?” H1%E,
FEHALT 300 F.




